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Part-A
e Answer all the questions
01. Find the value of 10 + (-4) 02. Find the value 0of 0.5 x 0.2

03.Solve —— =4

04,

The numberof chilies broken out from
ten treesin a chili bed are as follows.

16,9,3,16.6,22,13,24,9, 9

Find 1. Mean
ii. Median of this distribution
05. Find the cice ofthe triangle 06. Simplify 63 + 23 = ..........
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07. Find the value of x

08.

Shade the region (A 1 B)'

) T @e_ ’




09. Simplify 3. . 2
y? y?

10. if'the price of SKilograms of sugar is Rs.
515/-. Find the price of 1 Kilogram?

11. Find the value of 2x* -y when x =3

andy =4

12. Solve

2(x-1) - (x43) =5

13. Find the value of 5? x 3°

14. iflog, 2 = 0.3010, Find the value of
log, ;200

15. Find the value of x

2¥x23=27

16. Find the value of log 50 -log, 5,

Without using logarithmic tables.

17. Simplify (8 )T
27

5
18. Rationalize the denominatorof T 7—
345




19. Factories 9x? - 4

Factorise

20. Make R as the subject of the formula
2hR? - W= C?

w2




Part -B

e Write answers for four questions only

o1) i
i,

iii.

02, i

Write J&- as a surd (03 marks)
Converfd2 in to a entire surd (03 marks)
Simplify J30 x J2° (03 marks)

iv. Simplify 6J1+3J7 2. 57 (03 marks)

Simplify 1433 (03 marks)

sy

Find the value of x - (03 marks)
gxel =34

Find the value of dag 15 in terms of x when dag 3 = (03 marks)
Simplify '(aTaZ'U)% (03 marks)
Find the value of 24y, 20 - lrg 4 (03 marks)
Simplify with oat using logarithmic tables Zgx - 42 = 473 + 45 (03 marks)

03. The circumference oi'the base of'a cone is 44cm. its” slant height is 25¢m and the
perpendicular hei;:t is 24em. Find,

L

iil.

04. i

The radius of the base (U5 marks)
. The surface arza of the cone (05 marks)
Find the volume of the cone (05 marks)

(The volume of a right circular cone of base radius r and height his 1/3m’h and the area
of the curved surface of a cone of slant height 1 isarl . Take g )

Evaluate using logarithmic tables. (10 marks)

(5.63)° x/ 0.0457

2914

. Find the value of the following by using the above answer. (05 marks)

7.68 + (5.63)' x</0.0457

2914




05. i Evaluate 105 using the expansion of a cube of a binomial expression
1
_‘_
x2-4  (x-2)

ifi. Simplify X+x-12 _ X'-x-6
X?-64 X3+ 4x + 16

ii. Simplify

(05 marks)
(05 marks)

(05 marks)

06. Daya plucked some mangoes from her garden. He sent Y4 of mangoes to the brother and Y4
of mangoes to the sister. Then he divided 1/3 of the remaining mangoes among neigh bouis.

The rest be kept himself.

. What s the fraction of the mangoes which were sent t the brother and sister out e

total mangoes?

(vo marks)

ii. What s the fraction of the remaining mangoes Daya had out of the total mangoes?

(05 marks)

iii. If Dayahad 93 mangoes, what is the total amount of mangoes plucked from the garden?

w

{05 marks)



